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‘ T w2
(e | Eva!uate hm

(C) Find g—i’ when x = 3t—t3,y=t fl y

€2y
21

¢ ot LT 5
(c) If Matrix A= [4 3] and Matan [3 4]

ﬁnd AB.

) If ﬁmctlon f (x) = 3x3 X, Prove that f(_x)
= —f (x) R 4

x—b-l X+4 il

(f) Flnd gxx, wheny= 32— 4x+3
dy.

@ Find L

(h) Wnte down the theory of average vanable
'Acost ; , '
3210 .Answer any wo 'qne'stion's" : sy 2><»5=10' A

(a) In what time a sum of money will double ,

tself at 8% compound mterest ?

'1201'-“" 30 2]
' ﬁnd the value of Mamx A and Matnx B
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A ( 3 ) .
Answer any one questlon , ‘ gl . leO—IO
(a) (l) A machme is depreciated at the rate of

SRR C10% p.a. on reducing balances The
al Ongmal cost' was Rs. 8,000 and the

ultlmate scrap value is Rs. 3250. Fmd |

‘ the effect;ve 1;fe of the machme
(“) Flnd the munmmn and m maximum values
N ' -3 +1 545

Group-B (Marks 30) |

| (Busmess Statlshcs) b
4 Answer any ﬁve questlons b i SX2—10
.Fmd the medlan of the followmg numbers

AT ) 9 6

’Ifn— 10, zx— 120 Ix2= 1690 ﬁndthes])

»
-
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| : 4)

(¢) Find the correlatlon coefﬁment from the %
- following data I S U

O, —6 o, =10 andcov(xy)——30

2

(d)' For the two senes of observanons 1f ZJD2

~30,N = 10, ﬁnd Speannans rank correlatlon
o coeﬂiclent (R) i o

e Coeﬁicrent of vanatlon = 5% variance = 4,
ﬁnd mean ¢ &

O If Laspeyres and Paasche S Index NumberS'
- are 152.6 and 145 3 respectxvely ﬁnd Flsher s
"Index Number 3

(@ Mentlon two components of tlme series.

- (h) 'For a moderately skewed dlStnbuthn Mean =
4 20.5, Mode =32 8 Find the value OfMed_lan o

5 Answer any two questlons '_5 _‘ .. 2><5—10;

‘ Find the mode of the following dnstnbutlon

- Wages (Rs.).: 10—20 20—30 3040 40—50 &
NO Of | 415 : | R AR '; 1 |
Workers 6 f 14 g ; _llO‘ )

@ )) Calculate the coefﬁcxent of correlatlon ﬁ-om\:“ g "
the following data ; |

Xl 234 5
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- (3)

. (c) Fit a least squares trend line t.°' the following

data : |
Year \ 2014 2015 2016'201’7‘2018‘
~ Demand :
(000 units) 8 - 12 150+, A7 22
6. Answer any o\ne questlon '. 1x10=10

(@ o

_Find the standard dev1at10n from the -
followmg frequency distribution :

"x : 10  .:20- 30 40 50 -
ey s

| (ii) -.Fmd the pnce index number from’ the |
- V followmg data usmg Arithmetic Mean-’ 4

o "‘Method
'Commodlty Base Priice' Current Price Weight
s (Rs)) (Rs.) |
Rica L8 19577 iag " 90
Wheat (50120 000 2D s 12
O 307 e 2T 10

® @

' 423/3/135-500

. Fish . 9% 9 §

, B S
Estimate the two ‘regression - equations
from the following data : '
X = 3, VT 2, byx = 1,5, bxy = 0.37 _ -
) [ Turn Over] . -
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~on it ‘was. reported that two of the .j
i observatlons 34 and 46 were wrongly

28 and 42 F ind the correct .

LRI copled as
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(‘#rﬁﬁm ‘itﬁw) S |
| >|@c¢tﬂﬂrsfﬁ‘a‘m@w‘m Ehait ‘5‘@':” |

’IC‘N ’lﬁ"lﬁﬁﬁ‘ﬂ Wl,

'(“) ‘lﬁ'W’fW f(X) —Tx3+x Nm eﬂmw @,
o (—x) -'—f (X)

'\:(@) WWW° limXxHd

‘x——>l X 4“‘

./

i (b-)_ @ sna ﬁﬁ ?M Ty = 3 - 4x + 3

Tiag3ya/izsison il B [ Tun Qe ] ¢
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(ﬂ)m@ﬂAeBmmaﬁ?wwzuB-_
1:2.0] oo iS00
3,5 4 aRA - B 1 1 0]

() & o A A T, T =3, =]

° (1 GO < 2raa @mm L sxsemso
(@ () b 37 Sz A me T mﬁ%ﬁ s
 10% T w2, TEle 2R T 8000

- et e, B ot 3w 32503121511136?1
Wwﬁcﬁ b AR o

(ii) Wt"iwﬁ‘a mras RICR ﬂﬂﬁﬁ sna ?ﬂfiﬁ =

‘Y—x3,—3x.+1_ F i 5+5 &
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(9)

R I | o
@) (x) M A= L ; 2} mﬁmfsmmmw“

| _AdJ AG,A‘_‘ ?lﬁ'ﬂaﬂn "

(11) ﬁ‘ﬁlw cwm y = e"'—:”_’ i ,"5+5‘ p

ﬁm -

e
ol @ o om'-em e s T‘ ey
(as)ﬁmmmﬁwwﬁcwaz S

7,‘2596

(ﬁ)’iﬁn—lo 2‘.x—1206ﬁ‘<2x 1690 TSR
W?ﬁWWﬁ‘ﬁWl L |

(ﬂ)ﬁaﬁﬁ@wcmwﬁa@ewmmﬁ?
L , |
- o, =6 ! 10 ANC (xy)——30

(ﬂ)@mﬁawmwzm 30N—1o '
CHRRIR AT Afowars (Rank Correlatlon)
(R) & T ﬁq‘fr Ll N '

| | ; [Turyr't‘:Over i
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(10) i vl B ol
(@)W-S%a«m 4mﬁmﬁ°ﬁ:m|

®) Laspeyres m Paasche a3 qw AR nﬂm |

152.6 qR 145.3 Q?I m Flsherﬁa PF AR
ﬁq‘qwu il

(E) Wmﬁaqﬁ\%mw%mwwl

. '1\5 (a)ﬁmﬁwwa mmw B ﬁ‘fa =
‘1@ (ﬁ?ﬁ) 10—20 20_30 3040 40250
eﬁasmm gl gl 10

(ﬂ) ﬁmawwmwmwmmﬁcﬁr
R 3 4 5
i ‘7_6  8» 11 8 12 L
(ﬂ) fhm o asfm{c« ‘f&tmm ’fﬁﬁﬁt‘s msﬁ
mwmﬁaaa{m b
0 i Cooe wrcm) g 0 S

b 2014 2015 2016 2017 2018
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